
 

a

b Umfang: U = 2•a + 2•b
Fläche: A = a • b
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Umfang: U = 4•a
Fläche: A = a² 
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Umfang: U= 2•a + 2•b
Fläche: A = a • ha 
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Umfang: U = 2•a + 2•b

Fläche: A =   • e • h

r Umfang: U = 2 • 𝛑 • r
Fläche: A = 𝛑 • r²
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Umfang: U = a + b + c

Fläche: A =     • a • c
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Oberfläche: 
O = 2 • (a • b + a • c + b • c) 
Volumen: 
V = a • b • c

Oberfläche:
O = 6 • a² 
Volumen: 
V = a³
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Oberfläche:
O = a² + (4 • (   • a • ha))
Volumen: 
V = (a ² • h) : 3

Oberfläche:
O = 2𝛑 • r² + 2𝛑 • r • h
Volumen:
V = 𝛑 • r² • h
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Oberfläche: 
O = 𝛑 • r • (r + s)
Volumen:
V =    • 𝛑 • r² • h1
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Oberfläche:
O = 4 • 𝛑 • r²
Volumen:
V =   • 𝛑 • r³4
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c

Flächen und Körper

1
2

1
2

:



Flächen und Körper

Dreieck

hc
b a

Umfang: U = a + b + c

Fläche: A =     • a • c
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rechtwinkliges Dreieck
Umfang: 
U = a + b + c
Fläche:
A =     • a • b1
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Umfang:
U = 3 • a
Fläche:
A =   • a • h1
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gleichseitiges Dreieck

h

b
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gleichschenkliges Dreieck

Umfang:
U = a + b + c
Fläche:
A =   • c • h
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